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If JL—: cR/Sin {\H +x+1) L_;;} and
B:.;{}'EE .-"'}T:Siﬂ_l(\l'xz—}{+1I].3-;EA.[- then
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Question Number : 2 Question Id : 64041115202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The domain of the function f(x) = lc:srgf__r : : ‘ +Sin " (x> -2) is
\ X" —4x+4)
f(x)= kge[ - : }+smfwxz—2)@éx&o@héggaéén
\ X" —4x+4) )

Options :
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Question Number : 3 Question Id : 64041115203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Forall ne N, if 11(112 + 3) 1s divisible by k. then the maximum value of k 1s
‘E”'?Ja_ neN e 11(11 +3) w36 k 3 zrhodaés, k C‘_d.‘ué ?‘iﬁcu, Seni

Options :
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Question Number : 4 Question Id : 64041115204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1 1L Z
If a 1s the determinant of the adjoint of the matrix . and b 1s the
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1.3 3
. | o ® b+1
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Question Number : 5 Question Id : 64041115205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider two systems of 3 linear equations in 3 unknowns AX = B and
CX =D. If AX =B has unique solution D and CX = D has unique solution B.
then the solution of (A—CHX=01s

3 Eﬁ_ﬂ;ﬁ ehed? Hirth DE Frd HESeredh KDAS Both 565«3’3@&13 AX =B ubain
CX =D o 58rdoS08. AX =B a8 58 DO 58c5m CX =D 88 &5 B
0A 08, (A—C )X =0 &8 F&S
Options :
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Question Number : 6 Question Id : 64041115206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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f(x) 1s an nD degree polynomial satisfying f(x)= If

1
2

1 2]
X )
f(2)=33. then the value of £(3) 1s

£(x) f\f% \‘—f(x)
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Options :
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Question Number : 7 Question Id : 64041115207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the point P denotes the complex number z=x+1y in the Argand plane and

z—(2-1) o _
z+(+20) purely imaginary number, then the locus of P 1s

ﬂ ESE' . 3.\2, é o & 3 ﬁ Z_(Z_l)

P &3 Botixd efol oo’ z=x+1y o] dodd Hoggih Sl dbasn 7 (112D (+ 2i)

36 rﬁjﬁé el Homg wond, P ooogsy Bosiaigio

Options :
a hyperbola not containing the point (-1, —2)
(—1, —2) $o £OA 0l af edlowechd.

1. =

an ellipse not containing the point (-1, —2)
) (—1, =2) % £OA a0l 2. &gjaﬁe)géaa.



a parabola not containing the point (-1, —2)
(-1, —=2) &5 £OR soXd af Sowechiio.

3,
a circle not containing the point (-1, —2) and having its centre on the line
X+y+1=0
X+y+1=07%pp éo@ﬁﬁ]& g0 ssotwe, (-1, —2) BotHihd LOA eoil 2.€ Hdo.
4. ¢

Question Number : 8 Question Id : 64041115208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If (\E —1)" =2". n € N, then the least possible value of n is

(W3-1)"=2".neN wond, N & aiaslovs B3] Dendd

2l

Options :



Question Number : 9 Question Id : 64041115209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 64041115210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of solutions of the equationy/3x> +x+5=x-3 is

3x° +x+5 =x -3 $&E8wmo @B PSS ISTel Vi
Options :

Lx 2
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Question Number : 11 Question Id : 64041115211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The set of all real values of x for which _ >1 1s
(x—4)(x-3)
A |
=1 Ecﬁéé}ﬁgrﬁ &0% X @) NN densdoiholl Hind
(x—4)(x-3)
Options :
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Question Number : 12 Question Id : 64041115212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a.p and y are the roots of the equation 2x° +3x° —5x—7=0, then

LI, .
2 g2
o, B &6aim ¥y e 2% +3x2 - 5% -7 =0 5550 B Sorerss —p 1,‘ + ]? =
G = o p% 2
Options :
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Question Number : 13 Question Id : 64041115213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two roots of the equation ax* +bx> +cx? +dx+e=0 are positive and equal. If
the product of the other two real roots 1s 1. then

ax'+bx’ +cx” +dx+e=0 HEmo @) Bokh Hireren STedEdn HBAM

HErBS0. 388 Both FHSHIrere g0 1 ©ond, P

Options :
be? =ad
1. %
2brJe
3e+ +¢c=a
2. Vg

e+2b\r’g+3f:=a\/§



y 2
b e=ad

Question Number : 14 Question Id : 64041115214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of integers between 10 and 10.000 such that in every integer every
digit 1s greater than its immediate preceeding digit, is

o £ i —_ — , & P o 3 R T
58 BogxstD 8 ©o8, o8 IH[owd Hwohind o8 ¥od E.Jlfé_.&j @Gk
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10 s08ac50 10,000 fmcﬁbﬁ“ &S00 Rogge Do8y
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Options :
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Question Number : 15 Question Id : 64041115215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



All letters of the word '"AGAIN' are permuted in all possible ways and the words
so formed (with or without meaning) are written as in a dictionary. then the 50
word 1s
50 '"AGAIN' &w¥), of) oforad O35 «f) dgronr (HarBodre QBTG Hwrei
{@gaﬁoé@é& g 5229) a8 otnHED Dore U“'foo espey b0 Hto
Options :

[AANG

1. #

INAGA

3 @ NAAIG

NAAGI

Question Number : 16 Question Id : 64041115216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The number of ways in which a cricket team of 11 members can be formed out of
6 batsmen. 6 bowlers, 4 all-rounders and 4 wicket keepers by selecting atleast
4 batsmen. atleast 3 bowlers. atleast 2 all-rounders and only one wicket keeper 1s

©BHE ey, ©HIHE Fel), Seorhbdh eSTPoky HBaH Senibh J8ES 858
Hod EAHo Benrbd amthae, E0ko Hnrth FPel, BAK0 a8 o FPokd bk
28 a8 DS 855 DodE THEHKo oxoe 11 Hod Vg Ko a8 8885 &S
Ejtﬁq}iﬁr.‘.ﬁﬁ@?% Dgre Doy
Options :
11560
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6480
7680
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Question Number : 17 Question Id : 64041115217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



3 35 357

If y=—+ + +...00, then
4 48 48.12
3. 35 357
y=—+ + +...90 ©ons, ®HPdH
4 48 48.12 .

Options :

Question Number : 18 Question Id : 64041115218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sum of the coefficients of x* and x in the expansion of (1 + x — x%)° is
(1+x— }13)6 riﬁ:cé&_ é]éfﬁeaéﬁ x* %o805m x8 &w ) DEesPe) 080

Options :

121

1. #®



Question Number : 19 Question Id : 64041115219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3x° —Txxl A B % D E
If = + —+ S = F =
kx—2) x—-2 (x-2) (x-2 (x-2)" (x-2)
then A(B+C+D+E)=
3x-T7x+1 A B C D L ﬁ
i o = 7 F R z ©wonas, D
(x—2) x-2 &2y &-2Y -2} =-2) =
AB+C+D+E)=
Options :
0
1.
64



Question Number : 20 Question Id : 64041115220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2T 41 47 T T 27
tEll'lT. EHHT + EﬁllT. Iﬂll: + tﬁll:.TﬂHT =

Options :

T
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Question Number : 21 Question Id : 64041115221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

c0513°51n17°sim21%cos47° =

Options :
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Question Number : 22 Question Id : 64041115222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR T T
sin—+4s51m—4+5s1m—+4Sin—=
5 5 5 5
Options :
1

1. *
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Question Number : 23 Question Id : 64041115223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sum of the solutions of cosxy/16sin*x =1 in (0, 27) is

(0.27) & cosxV16sin’x =1 @) e Fngo

Options :

L 2T

137

o
2.%  ©



Question Number : 24 Question Id : 64041115224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If cot(Cos 'x) = sec- |Ta11 ‘ Ji ‘
b_p

b=a.then x=

||
-1 -1 a : .
cot(Cos 'x)=sec? Tan l —— |;. b>a @O, @IPE X =
b= i
Options :
b
7 2
2b-—a“
1.
a
3 )
2b“ —-a“



Question Number : 25 Question Id : 64041115225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If Sinh'x =log3 and Cosh™ y= log%. then Tanh ™ (x—y) =

—

Sinh ' x =log3 and Cosh™'y=log = wand. Tanh '(x—y) =

b2 |

Options :
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log—
3
3. %
2
log—
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Question Number : 26 Question Id : 64041115226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a triangle ABC. if a. b. ¢ are in arithmetic progression and the angle A 1s twice
the angle C. thencos A:cos B:cos C =

2.8 (Bzheso ABC &° a. b, c en @0¥@88° 608 5805 Beo A ©36 &%:so C & B%oé;.

wond, ©peh cosA:cosB:cosC=

Options :



Question Number : 27 Question Id : 64041115227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a triangle ABC. if A. B and C are in arithmetic progression. 775 =157, and

2 2 2
c=10.then a~+b " +¢~ =
2.8 (B2heso ABC &°, A, B 98050 C en ©0o3&&° 6o00, My =h, $H6dio ¢=10

¥ g 3
©ons, @pth a” +b” +¢” =
Options :
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Question Number : 28 Question Id : 64041115228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



2(5 +13)
ac(l+cosB)

2(r +1,) _
ac(l+cosB)

In a AABC,

2.8 (@ghemo ABC &P,

Options :

a+bic

a+b+c
2A

Question Number : 29 Question Id : 64041115229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In a right angled triangle. if the position vector of the vertex having the right
angle 1s —31+5)+ 2k and the position vector of the midpoint of its hypotenuse 1s
61+ 27+ 5k . then the position vector of its centroid is
2.8 ©0e8%s (BzhHesdné®, o280 EOAS iﬁﬂiméa} ) ﬁgé D68 —31+5)+ 2k s0bciw
R E8dn @ng) gy Hothd {Uga HBE 6i+2j+ 5k ©owd, oo SolBgrddn @)
B RSTAL
[

Options :

31+ 31+4k
1.¢

3i+3j+3k

31+7]+ 7k
3. % 2

47+ 3k

Question Number : 30 Question Id : 64041115230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the position vectors of the vertices A. B. C of a triangle are 3i +4j—k.
i+3j+k. 5(i + j+k) respectively. then the magnitude of the altitude drawn

from A on to the side BC 1s

a8 (Bgheso TwE) "51]1@3 A.B.Cwo Ei;“f: HBEen HXHme 3T+4j—k. T+35+E.
5(i+ j+k) ©owd. A fo& BC 8 Achads )8 Gnk) e
Options :
45

3

1. ¢

h
L)
_n

2. %
75
3. % 3
85
3
4. %

Question Number : 31 Question Id : 64041115231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the vectors 21 +4j—3k. —i+2j+3k and pi—2j+k are coplanar. then the
unit vector in the direction of the vector 9pi —4j +4k is
21+47-3k. —1+2]+3k $6am pi—2]+ked 568 $8droons,
Opi—4]+4k GnE) BIS® oHrE BB

Options :

1(27—47 +4Kk)
1. # o

%{5?-43—:4@

\/_.?

2. %
L(ﬁ?-ﬂ#@
J68

3. %

1(—'-1_ —4j+4k)
g ]
4.4

Question Number : 32 Question Id : 64041115232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Forthelines T=a+tb and T=p+sq.

if (a—-p).(bxq) = 0. then the two lines are coplanar

BBS0 (A) 1 (@-p).(bxq) =0 ©ows, T=a+tb HBcaw T =P + 57 Open
Hesdafren.
Reason (R) : ‘(E -p).(bx @| 1s ‘E x E‘ times the shortest
distance between the lines T=3+tb and T=p +5q.
so8es0 (R) (a —I_J).{Bxﬁ)‘ ©30, T=a4+tb 06c%» T=pP+sq oo
ot Ko 805 8008 D x | Bey eH%08.
Options :

(A) 1s true. (R) 1s true and (R) 1s correct explanation to (A)

(A) Seggm, (R) S5550 56650 (A) & (R) %8 eans D5
1. %

(A)1s true. (R) 1s true and (R) 1s not the correct explanation to (A)

(A) $e5Em, (R) 58550 508650 (A) & (R) 56 wand e =
2. %

(A) 1s true. (R) 1s false

. (A) $s8m, (R) odsm



(A) 1s false. (R) 1s true

(A) o550, (R) B5sm
4. "‘\i"""? o

Question Number : 33 Question Id : 64041115233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let 3 =41 + 3} and b be two perpendicular vectors in the XOY-plane. A vector
T in the same plane and having projections 1 and 2 respectively on a and b is
a=4i+3] oBasw b en XOY-$e068 Bo oom H6HFen S0l a Lbow
b © 3 %S 1 H8cn 2 o JEHSnenr DA od Swod &i)) a8 VOE € =

Options :

1+2]
1. %

3% 57
2% :

1—2?
3. %

2i—j



Question Number : 34 Question Id : 64041115234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The mean deviation about the mean for the following data is

Bob B0z @odshtysho o s ddedo

ClassInterval [ 0-2 |2—-4 [4-6 |6—8 |8-10

S5M8 wosto

i
o
=
J

Frequency 1

Srod ol o

o oden) ECI;QID

Options :
5
1. %
20
11
2.
ﬂ
. B
3. %
2
4, %

Question Number : 35 Question Id : 64041115235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

A basket contains 5 apples and 7 oranges and another basket contains 4 apples
and 8 oranges. If one fruit is picked out at random from each basket. then the
probability of getting one apple and one orange is

2.8 aurf'ﬂﬁ‘ 5 a5 08850 7 eBoasiot), SB°E eneE® 4 orhe) HHBAM 8 Boesot
enon. 2898 ané) ok dﬁ:f-cﬁ;ﬂl:éorw 2,8 HoHd é“ﬁg, 2.8 8958 HHbctn a8 TBoaid

P08 Kogrigs

Options :
1
1. #® .
18
2. %
17
3 @ 36
19
36
4. %

Question Number : 36 Question Id : 64041115236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Two cards are drawn from a pack of 52 playing cards one after the other without
replacement. If the first card drawn 1s a queen. then the probability of getting a
face card from a black suit in the second draw is

52 _gjgéjjéétﬁ Ko a8 BE & ®hok Dot ¥ SwBoih, el dhard HE s,
825 Hod 86A DEHore S, Bnke BLD DY Y e b wond, JorNard

&2 Pt a8 el Srend? Hod Sngdn DAY DE 0E)% srotierid Ke L0grgs

Options :
11
| 663
11
1326

2. ¢

11
s % 312
11
156

Question Number : 37 Question Id : 64041115237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



An item is tested on a device for its defectiveness. The probability that such an
item 1s defective 1s 0.3. The device gives accurate result in 8 out of 10 such tests.

If the device reports that an item tested 1s not defective, then the probability that
it 1s actually defective 1s

a8 FHE Bard) HBoSmRs e HB8E0R HOETD. werod ¥ FihH) 6%
BOAKG =8 Ko Jogrdyd 0.3. o H88803 08 werod 10 20ged® 8 8
ENSDN 0= 3:508. $6800088 a8 ShHS® &0 B8R © 18880 (PHEBR, ©

5505 edHore 6°%50 BDAKG @tfog 20gPeges

Options :
2
15
1. #
3
29
2. %
31
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4
51



Question Number : 38 Question Id : 64041115238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a school there are 3 sections A. B and C. Section A contains 20 girls and 30
boys. section B contains 40 girls and 20 boys and section C contains 10 girls and
30 boys. The probabilities of selecting the section A. Band C are 0.2. 0.3 and 0.5
respectivley. If a student selected at random from the school 1s a girl. then the
probability that she belongs to section A is

e ardTos® A B H6ain C o furth 25 samon. 2ES A &° 20 Hob erdSen,
30 oo erentd, 2E° B &P 40 H06 erDEen, 20 508 erendh HoBIW 2ES C &8 10
H008 erDEen, 30 $0d wrendh samd. A. B 80in C 2850 Jodh8 dnothd Ko
Dogriigsen Hdre 0.2, 0.3 58 0.5. @ shdzre Hod cirt)ihEorr dowd B2 ¥

&mﬂég erD¥ wond, @ erhY ES A 8 3ol e 20greges

Options :
121

% 200
16

, & 121
i
81

3. %



16

4 81

Question Number : 39 Question Id : 64041115239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the probability distribution of a random variable X 1s as follows. then the mean
of X 1s
a8 SirtinE Soord X aing) Sogrsy

)

= Deresido (Bod Hiorr o8, X o) eolshtgiho

X=x; | -1| 0 1 2
P(X=x;)| K | 2K’ +k | 4k—10k” | 4k—1

Options :
193
27

1. ®

[ ]
N

)
<

-
]

-
~1
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Question Number : 40 Question Id : 64041115240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

16 8
If X 1s a binomial variate with mean =y and variance e then P(X <2)=
e £ # s 16 48 -
X 036 wo¥higho — bain OF )8 = 08 &) af 68 Soord wans,
P(X<2)=
Options :
39(169)
<8
1.v -
3'(71)
58
2. % )
38
(43)5°
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Question Number : 41 Question Id : 64041115241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A(a. 0) 1s a fixed point and 6 i1s a parameter such that 0<0<2x. If
P(acosB.asin®) is a point on the circle x* + y*> =a* and Q(bsin®.—bcos6) isa
point on the circle x? +y2 —b?. then the locus of the centroid of the triangle
APQ is

A(a.0) =8 ?&J:Jé Sotha) snbain 0<0 <2n E‘(%Jé&ﬁ;grﬁ 0 2.8 Hoednd. x2 s Fz oz 2
%oz P(acosh.asinb) &8 othsh $bcin x” +y* = b” Hgom Q(bsin6.—bcos6)
2.8 Doty wowd, (BzHmo APQ ¥ Bolerssn B Hoth HEHsin

;\,‘az +b? ‘

Options :
A

|'/
a . |
a circle with centre at ‘ ;-0 | and radius
W A

|'.' 3
{a | “'.,J'ﬂz+b2
) ] 8

1. ‘

3

X, )

agrgorr HOAS a8 fHdo

an

PA
3194
ik
Q
‘ER



a circle with centre at (a.0) and radius | 3

(a.0) H& Sosos® | 3 secareore HDAY a8 Hdo
[A] 1l 4 _. B @ B

a parabola with focus at

3138
b
&
29
=
(=
=0
ch
F‘!I
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._.R
&
h
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(2 )
BYs

§
A

a parabola with focus at (a.0)

(2.0) 58 =0 KOAS 2.8 Hordecho

Question Number : 42 Question Id : 64041115242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The point P(4. 1) undergoes the following transformations in succession :

(1) origin 1s shifted to the point (1. 6) by translation of axes

(11) translation through a distance of 2 units along the positive direction of X-axis
(111) rotation of axes through an angle of 90° in the positive direction

Then the coordinates of the point P in its final position are

P(4, 1) &otha) S Bobd HDOHEH0D i@éoéééorﬁ PRHE 0.
(1) Sredothsh, oty (1, 6) SBH Jxross ©FHBIES o Srd)o
(ii) X-o80 @) $5 6F Joad 2 chrdy Srdo Kirods HHREK0 Babio
(ili) DErE vzrad $:5688° 90° © 8008 (gihmo Jabio
©pe wodh %;Ef;o@ﬁ Dothd) P adng) Ddrdseen

Options :

(3.4)
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Question Number : 43 Question Id : 64041115243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



L,=ax-3y+5=0 and L,=4x-6y+8=0 are two parallel lines. If p. q

are the intercepts made by L, = 0 and m. n are the intercepts made by L, =0 on
the X. Y- coordinate axes respectively. then the equation of the line passing through
the points (p. q) and (m. n) 1s

L,=ax—-3y+5=0 80 L, =4x-6y+8=0 en 3o J&ross Spen. P, q e
L,=0 3% HBcn m. n en L, =10 38 X. Y-ogon &0 a888adsd @08
S,Jom’:@é, (p. q) s086c%0 (m., n) mofﬂ:@@ o 86 By BEnEdeso

Options :
3x+3y+2=0
1. #
2x4+3y=0
2. ¢

Question Number : 44 Question Id : 64041115244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If (h. k) 1s the image of the point (2. —3) with respect to the line 5x —3y =2. then
h+k=
H8¥0m Sx—3y=2 CS“EE s, Dothsy (2, -3) Gng) F&&o=o (h, k) wond h+k=



Options :
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34
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Question Number : 45 Question Id : 64041115245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the pair of lines ax? —7xy —3y® =0 and 2x* + xy—6y* =0 have exactly one
line in common and 'a’ 1s an integer, then the equation of the pair of bisectors of

the angles between the lines ax? —7xy —3y? =0 is

ax> — TXy —3}*3 =0 HHbBcin 2xI+ Xy — 6}?2 =0 é@"‘dﬂ]&ﬁ”&?jg_’} 28 ¥ 5&53;‘ O
Gote 08cmm 'a' a¥ &*ﬁﬂgzﬁo% Lond, ax- —'.-'xy—j}fz = () Ope oty Ke Efegee
ISESIAN:Velaty) Tar @ﬁjaf‘ig_o a0, H8nESes0

Options :



7x2 +18xy—T7y* =0
1.¢

% —]6:&}'—}'2 =2

2. %
7% ~9xy -7y =0
- /X Xy—T7y =
2 -
L w X ixy—y-=10

Question Number : 46 Question Id : 64041115246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the angle between the pair of lines 2x? + 2hxy +2y° —x+y—1=0 is Tan '(3/4)
and h 1s a positive rational number. then the point of intersection of these two
lines 1s

Sgratorfo 2x% +2hxy +2y” —x+y—1=0 %0t Swo Tan ' (3/4) b h &8 &
XS5 08 ©ond, &% Both One BoE) otssd Hothsd

Options :
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Question Number : 47 Question Id : 64041115247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the equation of the circle passing through the point (8. 8) and having the lines
X+2y—-2=0 and 2x +3y—1=0 as its diameters is X4 }’3 +pX+qv+r=0.
then pz + q2 +r=

(8, 8) Doty omrefer, x+2y—2=0 805 2x + 3y—1=0 353’5'- 20 TeedSnentr
BOAS HFBn ¥ HoBetin X+ Y +pX+qy+1=0 wond, p2+q2+1=

Options :

244
1. %

100
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Question Number : 48 Question Id : 64041115248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 2x -3y +1=0 1s the equation of the polar of a point P(x,.y;) with respect to
the circle x* + y* —2x+4y+3=0.then 3x, -y, =
x2 +y2—2x+4y+3=0 o Sk 5 P(X1.yy) ®3 28 Hothd) BnY) Cj;ajéﬁaa @)
D&E8e0 2X -3y +1=0 wons, 3%, -y, =

Options :

2
w3



Question Number : 49 Question Id : 64041115249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a unit circle S=x>+y>+2gx+2fy+c=0 touches the circle
S'=x>+ 3,-'2 —6x + 6y +2 =0 externally at the point (-1, -3). then g+f+c=

4 2 2 T L : 2 2 L
S=x"+y” +2gx +2fy+c =0 o3 a5l HFo. S'=x" +y —6x+6y+2=0 &

JEed erssgore (-1, -3) o Dothd) 5 “mé%'é, g+f+c=

Question Number : 50 Question Id : 64041115250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



3x+4y—43=0 is a tangent to the circle S=x? + y> —6x+ 8y +k =0 at a point

P. If C 1s the centre of the circle and Q 1s a point which divides CP in the ratio
—1:2. then the power of the point Q with respect to the circle S =0 i1s

S=x?+y” —6x+8y+k =0 H%0p a8 orhid P ADS )58 3x+4y—43=0.
C o036 e é&ﬁéo{gﬁmﬁ- 805» Q @36 CPJ —1:2 EJ@_@;&"E pofod Dot wand,
S =0 &gy Q Ang) ol

Options :

Question Number : 51 Question Id : 64041115251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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If the radical axis of the circles x*+y*+2gx+2fy+c=0 and

2x% + 2y~ +3x +8y + 2¢ =0 touches the circle x* + y> +2x +2y+1=0. then

SFswen x> +y” +2gx + 2fy +¢=0 8w 2x” +2y” +3x+8y+2c =0 © B

5y V85008, @by
A e )

b} ] . I i
orergo, B XT+y +2x+2y+1=0&

Options :
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Question Number : 52 Question Id : 64041115252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Tangents are drawn at three points P(t, ). Q(tz). R(t3) on the parabola y* =x.Let

these tangents intersect each other at the points L, M. N, Ift1 =2,t,=-4,1;=6,
then the area of the triangle LMN 1s

} = X Joriedho D e Srth dothiden P{t ) Q(t ). R(t J LIRS tﬁﬂsp ﬁdﬁ}&;ﬁt_jcm.
o f:g:f%bgsg en a¥oed&t HEgd L, M. N Dothde éiﬁ goliohElotrchibiiomro.
t, = 2, £ —4. b= = 6 wownad, Bgha:o LMN 0¥ FFvexin
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Question Number : 53 Question Id : 64041115253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The area (in sq. units) of the triangle formed by the tangent and normal to the

ellipse 9x? + 4y? = 72 at the point (2. 3) with the X-axis is

08 (2, 3) Soths -:":ﬁtg ADSH ;’:ﬂ:fﬁfj'{:ﬁa} 508050 @feozbeen

Options :

25
2

1. ®

Ld
O

2.¥

(S ]
L

- |

=
'h‘|'u1

Question Number : 54 Question Id : 64041115254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



-

,2 o
If 3«./5};—4}-'212 is a tangent to the hyperbola E oo o] and

5. .
— 18 118
HZ bl 4

RHS 7 2
eccentricity. then a~ —b~ =

Options :

1. ® 3

Question Number : 55 Question Id : 64041115255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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If the normal drawn to the hyperbola xy = 16 at (8. 2) meets the hyperbola again

: 1
at a point (o, B). then |B|+—=

o]
Xy = 16 e@8Soedocird8 (8, 2) Dothsh ég ADY @feozDy SBA e SESle o les v
1

5 Bt e . e B 1 -
o

B+

Options :
40

1. ®

Question Number : 56 Question Id : 64041115256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The locus of a point at which the line joining the points (-3. 1. 2). (1. 2. 4)
subtends a right angle. 1s

(3.1.2). (1, -2, 4) HoHHed 50 Ogrpolsdn a8 Hohd ¢ @omgﬁwﬁg 33-65;6'&,
@ Hothd) g DothHFdn

Options :



i 2 2
X Sz 2ty y—bz—3=10
1. %

Z o 2
. E Ay <hZ F2ney—bz - 3=10)
2.

7 )
x‘+}"+zz+2x+y—62+3:{]
3. ¢

7 i) i)
. X +¥ +Z =2x¥ry=0z+3=10

Question Number : 57 Question Id : 64041115257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IfA(1.2.3).B(2.3.-1).C(3.-1.-2) are the vertices of a triangle ABC. then the
direction ratios of the bisector of | ABC are
A(1.2.3).B(2.3.-1), C(3. 1. -2) e» a8 (8gheo ¥ donwons, |[ABC &@ng)
S A olaty o> Gng) BE Doggen

Options :

% 4.1. 1)
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Question Number : 58 Question Id : 64041115258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

LetA=(2,0,-1),B=(1,-2,0),C=(1,2,-1)and D=(0,—-1,-2) be four points.
If o 1s the acute angle between the plane determined by A. B. C and the plane
determined by A. C. D. then tan6 =
A=(2,0,-1),B=(1,-2,0),C=(1,2,-1) &8s D=(0,-1,-2) en aventh
DothHeetod. A.B.C o 3 ?JD;EEO&&&?& Serdr $86m A, C.D o ?UD;E}O;EEJ&&
Sere ey He o5nEso 0 wond, tand =

Options :
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1. #®
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2. ®
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Question Number : 59 Question Id : 64041115259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[x] represents the greatest integer function.
. cos[x]—cos(kx —[x
If fipy SOSX]—cos(hx —[x])

; —5 thenk =
x—0" ).

e,

[x] 2.8 1165 rozos (Ehateg $r0508,
. cos[x]—cos(lx —[x
lim x] f,-.{ il

x—0" X~

—5 wons k=

Options :

J10

1.¢

Ji1
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Question Number : 60 Question Id : 64041115260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
vtan 2x—2xtanx

lim

x—0 U:—cosix)g

Options :

2

[ | =

2.9

da | —



Question Number : 61 Question Id : 64041115261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

(™ —Dlog(l + .
e _)?g( ) , if x>0
5in° X
If f{x)=+ 2 , if x=0
c054x—2cosbx i x<0
tan" X

LN

is continuous at x = 0 then /p2 _ 42 =

(€™ —1) log(l +x)
sin’ x ?
fix)=-: 2 , X=0 wond

cosdx —cosbx

x>0 wond

., X<0 wond

I:an2 X

©30 X = 05 «dNNDE, b2 — 3% =

Options :
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Question Number : 62 Question Id : 64041115262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

37 , = .
it AR i ;
If y=Tan 1‘ — ‘+Tan 1‘ ———F ‘_theu il ==
L 3% ) \LI=12%, dx
(3x-x> ) e dy
r=Tan | == [+ Tan | ——— | wond x=0 55§ —=
> | 135 5 G ey, =
Options :
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Question Number : 63 Question Id : 64041115263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

x*'/3x-5 [ dy
Ify= . then d =
( )(2x — x=2
xt3x -5 i dy B
¥= 5 ©ONS, ©PLD ax =
(x* -3)(2x—3) N
Options
1. % S
2. ® 0
1
3. %
4.4 =

Question Number : 64 Question Id : 64041115264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



2
dx=

. 4 .
};2 +y +smmy= 4 &?D)}E_%. X=-—2 ég

Options :

—30

] ®
—34

2.9
-32

3. %
—18

4. %

Question Number : 65 Question Id : 64041115265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the surface area of a spherical bubble 1s mncreasing at the rate of 4 sq.cmv/sec.
then the rate of change in 1ts volume (in cubic cm/sec) when its radius 1s 8 cms 18

+ L. i
a8 Aeesely) andl ang) 650680 JTrego WEHH 4 Jno.db. TS 235058508,
o) aﬁﬂmgzﬁw 8 20.8%. SNPE TR SHRDBDPEB0H R S8y Tén

(508 0.8, [2858%)



Options :

1. # 8

Question Number : 66 Question Id : 64041115266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of turning points of the curve f(x)=2cosx —sin2x 1n the interval
[-m. @] is
[-7. 1] wost0é® f(x)=2cosx —sin2x HEo T Hewd) DoHHe Sogy

Options :



Question Number : 67 Question Id : 64041115267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The radius and the height of a right circular solid cone are measured as 7 feet
each. If there is an error of 0.002 ft for every feet in measuring them. then the
error in the total surface area of the cone (in sq. ft) 1s

8 oo 5?3%@5_; 508 $ots) wE) grgo O Jhen aFEHB T ediboorr
Fodndsd. DB Fodtos® H8 widiHdE 0.002 @hHirh SPps 8%8m08, & Fodhd
GwE) Fngo #3383 FTegod R &R0 (J.0.08°%)

o

Options :

-, (0.088) (2 +1)

(0.616) (\/2 +1)

2. ¢

.« (0616)(2)

(0.088) (v/2)

Question Number : 68 Question Id : 64041115268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

If the slope of the tangent drawn at any point (X. v) on a curve is (x +y). then the
equation of that curve is

28 HEo P 0gd DothdH (X, y) DG ADS 550 e (X 1Y) wond © HEo @)

=
-
i
L

STV telate)
Options :

y=ce" +1+x
1. %

y=ce" —X
2. %

—X.
= S B 4

3. % f

y=ce*-1-x
4. v

Question Number : 69 Question Id : 64041115269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

j(\/tanx +4Jcotx) dx =

Options :



of tanx—1.)
2Tan 1‘ ‘+c

 vianx

_¢f tanx =2

L 24/tanx )

Tan +c

| tanx —1

BT ——
| 4/2tanx

3.¢

+C

\ETau_l‘l tanx +1 ..‘+c

‘\./2_ tanx /

4, %

Question Number : 70 Question Id : 64041115270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :



1 e T
\EK—E—ETau 1 — |*+¢
1. % % T W
Il LY
_ x—2
Vx—2-2Tan t n +C
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W
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vxX—2+2Tan |~ |*¥¢
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Question Number : 71 Question Id : 64041115271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I 50 n :
- "’ 3 i y k
If IX49 Tan_lxm+1—m dx = > f(x)+c. then t(l)—f(w“xn ]:
| 1+x k - |
50 . : _
; i/
1149 Tan 'x°° +X—mﬂ dx = > f(x)+c ©ond, P f(K)—f( x" )=
1+x k : ;

Options :



k+n

k—n
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Question Number : 72 Question Id : 64041115272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 73 Question Id : 64041115273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For 0 =x <1. I[Tau_l{l —x+x° )+ Tau_l{l —x)]dx =

Options :

xCot ' x +10g\“+X2 +C

1.

xTan ' x — log(l+x7)+c¢
2. %
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xCot lx——log(1+r)+c
3. % '

xTan 'x—

logv1+x” +¢

¥
|

Question Number : 74 Question Id : 64041115274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

J. sﬁ14(zx)cosﬁ(2xj dx=
—21
Options :
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Question Number : 75 Question Id : 64041115275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
t

If f(t)= J.t.?m{z“_lz1 xdx.ne N, then f(t+7)=
0

t
fin= Jtr—mcm_lj xdx.neN oowd, f(t+7)=
0
Options :
£(t)£(7)

f(t)-f(m)

2. %

£(t)+f(n)

f(t)
f(m)

4. %



Question Number : 76 Question Id : 64041115276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2 - F A \5/2
J.xsi' ——1] dx=
0 . 45
Options :
A15
1. = 3
416
, % 315
~16
s
189
3. %
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Question Number : 77 Question Id : 64041115277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The area (in sq.units) of the region bounded by the curves y=x? and y=8 —x’ is
2 508050 Y= X Eésv@f) 6&651):: [mééo Glog) davegsn (5. D6E°)

Options :
3
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#®
L] |

3.

Question Number : 78 Question Id : 64041115278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The solution of the differential equation x”(y + ])é +yi(x+1)* =0,
when y(1) = 2. 1s

; dy g
y(1) = 2 0ondsipd, ool $du8seo x2(y+ ljll—"+ vi(x+1)*=0 @08y RS
ax

Options :
2.1
ng|hzv| —ip ]
1. % I
1 i 2
log|=x’y|=—+=+x—1
4 X ¥y
2. %
.5 b 1
log| = xy|=—+——xX——
2 X ¥ J
3. ¢
L. 1 1 1
log|—x"yi=—+——%X+—
3 X 3y 2
4. %

Question Number : 79 Question Id : 64041115279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



_ ) _ . - dy 2x4y-—-3
The general solution of the differential equation d

X 2y —x43 -

dy 2x+y-3

-

eded H5onitdeso G0E) FerSes PR

dx 2y-x+3 g
Options :
. xz—xy—yz+31+3y+c:ﬂ
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Question Number : 80 Question Id : 64041115280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If Klogx?jtyzlng};z and v(e)=0. then y(e*) =
X
dy 2 2
xlogxd" +y=logx" 06d» y(e)=0 wond, y(€’)=
X

Options :
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Question Number : 81 Question Id : 64041115281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

If the error in the measurement of the surface area of a sphere is 1.2%. then the
error in the determination of the volume of the sphere 1s

2% Rigo GInE) 65880 JToego Besabd %0 1.2% eond, e Ao G0 F00B8Es0
B8,0H6%)
Options :

4 40
L% 2.4%

, o 1.8%

1.2%

3. %

, = 0.6%

Question Number : 82 Question Id : 64041115282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A body starts from rest with uniform acceleration and its velocity at a time of 'n’

seconds is 'v'. The total displacement of the body in the n® and (n — 1)® seconds

of its motion 1s

’““%ur.';::?i:ue"_% $08 HE6S éaﬂﬁaao-e‘_?n& DGHenBS 2.8 AESE) a%0 ‘N’ EHe oo éc‘g N

8 K008 1 HBc (n— 1)8 2Hes® & $HH I é —jﬂ (Bodo
Options :



v(in+1)
1. ® 11

2vin+1)

2. @ 11

2vin-1)

3 n

vin—1)

, % D

Question Number : 83 Question Id : 64041115283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the range of a body projected with a velocity of 60 m s™' is 180+/3 m. then the

angle of projection of the body 1s
(Acceleration due to gravity = 10 m s7)

60 m 57 Ho8® [HEHo Dabadd el HHD =xh 18043 m. wond « Bk dnY)

(3853 E%a0

(% &deso = 10m s7)

ol

b

Options :



v 30° or 60°

5 % 372 053"

Question Number : 84 Question Id : 64041115284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the height of a projectile at a time of 2 s from the beginning of motion is 60 m.

then the time of flight of the projectile 1s
(Acceleration due to gravity = 10 m s72)

SoRo IwSSE 2 s seoo HF a8 E5%0 @nE) 0 60 m. wond = (HESEo mdHS®
[230ime800d Jwdo sPeo
(ot &80 = 10 m ™)

Options :
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Question Number : 85 Question Id : 64041115285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A disc of mass 0.2 kg 1s kept floating in air without falling by vertically firing
bullets each of mass 0.05 kg on the disc at the rate of 10 bullets per every second.
If the bullets rebound with the same speed. then the speed of each bullet is
(Acceleration due to gravity = 10 ms™)

28958 0.05 kg 83855078 Ko 088eid 0.2 kg (o8 Ko 2.8 8% (98 EDH
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Two bodies A and B of masses 1.5 kg and 3 kg are moving with velocities

20 m st and 15 m s respectively. If the same retarding force is applied on the
two bodies. then the ratio of the distances travelled by the bodies A and B before
they come to rest 1s
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If a force F = {‘%i = 23) N acting on a body displaces it from point (1 m. 2 m) to
point (2 m. 0 m). then work done by the force is
2.8 0 2 éﬁéoﬁ:offaaﬁcl 200 F= (31 o 2:]'] N o200 Sothdd (1 m, 2 m) o Bothsh

(2m.0m) % %é@o-ﬁo B080D%, @ oo BHD HY
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A body moving along a straight line collides another body of same mass moving
in the same direction with half of the velocity of the first body. If the coefficient
of restitution between the two bodies is 0.5, then the ratio of the velocities of the
two bodies after collision 1s

(treat the collision as one dimensional)
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If a solid sphere 1s rolling without slipping on a horizontal plane. then the ratio of
its rotational and total kinetic energies 1s
2.8 508 FPgo el BB8e DEross S00p erdhor SR, ol (e sHbdn Sndo
Kae: $Ho 0HG
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As shown in the figure, two thin coplanar circular discs A and B each of mass "M’
and radius ‘r” are attached to form a rigid body. The moment of inertia of this
system about an axis perpendicular to the plane of disc B and passing through its
centre 1s
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The time period of a simple pendulum on the surface of the earth 1s T. If the
pendulum is taken to a height equal to half of the radius of the earth. then its time
period 1s
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A particle 1s executing simple harmonic motion starting from its mean position.
If the time period of the particle 1s 1.5 s. then the minimum time at which the
ratio of the kinetic and total energies of the particle becomes 3 : 4 1s
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If the escape velocity of a body from the surface of the earth is 11.2 km s7%. then
the orbital velocity of a satellite in an orbit which 1s at a height equal to the radius
of the earth 1s

25 &58800 2008 a8 H5:08) Herahd H& 11.2km s @ond 28 08 2 e
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A wire 1s stretched 1 mm by a force F. If a second wire of same material, same
length and 4 times the diameter of the first wire is stretched by the same force F.
then the elongation of the second wire 1s

2 8555 F 2008 1 mm Kb, oo .‘a'iwmfﬁo, ©03 §REH DA Jnisd &K% Teenitd
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In a water tank, an air bubble rises from the bottom to the top surface of the
water. If the depth of the water in the tank i1s 7.28 m and atmospheric pressure is
10 m of water. then the ratio of the radii of the bubble at the bottom of the tank
and at the top surface of the water 1s

(Temperature of the water in the tank 1s constant)
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A wire of length 0.5 m and area of cross-section 4x107° m” at a temperature of
100°C 1s suspended vertically by fixing its upper end to the ceiling. The wire 1s
then cooled to 0 °C, but is prevented from contracting. by attaching a mass at
the lower end. If the mass of the wire is negligible. then the value of the mass
attached to the wire 1s

[Young's modulus of material of the wire = 16" N

: coefficient of linear
expansion of the material of the wire = 10™ K and acceleration due to gravity

=10 m§ 2]
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The temperature of water of mass 100 g 1s rasied from 24 °C to 90 °C by adding
steam to it. The mass of the steam added 1s
(Latent heat of steam = 540 cal g™ and specific heat capacity of water = 1 cal g! °C™)

AL '““ap Q). Benmtso apNey 100 g f‘,ﬁ‘é"{}"'ﬁ Ko DB cﬁyé& é&;“ljiéﬁp 24 °C o
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When 80 J of heat 1s supplied to a gas at constant pressure, if the work done by
the gas i1s 20 J. then the ratio of the specific heat capacities of the gas 1s
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A refrigerator of coefficient of performance 5 that extracts heat from the cooling
compartment at the rate of 250 J per cycle 1s placed in a room. The heat released
per cycle to the room by the refrigerator 1s

(38 S(so08 SpaldSHeons oarddoty Soé 250 J &spi)y 15203, [Bosrdear MHesto
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In a container of volume 16.62 m® at 0 °C temperature. 2 moles of oxygen,
5 moles of nitrogen and 3 moles of hyvdrogen are present. then the pressure in the
container 1s

(Universal gas constant = 8.31 J mol™ K1)

HodH8dro 16.62 mP e a8 ax@st 0 °C ﬁéﬁ[ﬁé 58 2 Jrde w8ed, 5 drde
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If a travelling wave 1s given by y(x. t) = 0.5 sin (70.1x — 10xt). where x and y are
in metre, the time t is in second. then the frequency of the wave 1s

a8 ([Hoirdod Soro, y(x.t) = 0.5 sin (70.1x — 107t) T LrDoSwlds, =¥
X 508ain y Or&8 &° Hh8cin sreo t o &° S0l & S8oko GnY) FHIE0

Options :
., 0Hz

Question Number : 102 Question Id : 64041115302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the focal lengths of a convex lens when kept in air and when if 1s
immersed 1n a liquid 1s 1 : 2. If the refractive index of the material of the lens 1s
1.5. then the refractive index of the liquid 1s
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The path difference between two waves given by the equations
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The sum of two point positive charges separated by a distance of 1.5 m in air is
25 uC. If the electrostatic force between the two charges 1s 0.6 N. then the

difference between the two charges 1s
St 1.5 m&rsos’ S%hdchads Both Hoh Fordare Iwdo 25 uC. o Both waizre

Cavaly %Eﬁ @&55 200 0.6 N @ond, Both saare ot Hgasdo
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The energy stored in a capacitor of capacitance 10 uF when charged to a potential
of 6 kV 1s

10 uF 8ar0e5R) Ko a8 Barhebid 6 kV o sr8Qohed waiddo T0S, © Sarhebs®
Qex, sot 48
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A parallel plate capacitor has plates of area 0.4%n m? and spacing of 0.5 mm. Ifa
slab of thickness 0.5 mm and dielectric constant 4.5 1s introduced in between the
plates of the capacitor. then the capacitance of the capacitor is

2,8 Doy Jede Barded 0.41 m? S50 S08c50 0.5 mm @osdo (Br8o) &
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In the given circuit. the potential difference across the plates of the capacitor C in
steady state 1s
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The potential difference across a conducting wire of length 20 cm1s 30 V. If the
electron mobility is 2x10™° m* V~'s7, then the drift velocity of the electrons is
20 cm §°EH Ko 2 e &K 288 THYHS B0 30 V. 635@5 Beib Beds
2x10° m* Vs eowd, &@E&; &5 3o
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A maximum current of 0.5 mA can pass through a galvanometer of resistance
15 Q. The resistance to be connected in series to the galvanometer to convert it

mto a voltmeter of range 0—10V 1s

15Q 268%50 He a8 mexardhed omoe 0.5 mA 563 s (HDsroSHe.
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Two charged particles of specific charges in the ratio 2 : 1 and masses in the ratio
1 : 4 moving with same kinetic energy enter a uniform magnetic field at right
angles to the direction of the field. The ratio of the radii of the circular paths in
which the particles move under the influence of the magnetic field is
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A sample of paramagnetic salt contains 2x10>* atomic dipoles each of dipole

moment 1.5x 107 JT™. The sample is placed under homogeneous magnetic field

of 0.6 T and cooled to a temperature 4.2 K. The degree of magnetic saturation
achived 1s 20%. Then total dipole moment of the sample for a magnetic field of
0.9 T and a temperature of 2.8 K 1s
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A coil of resistance 200 Q 1s placed in a magnetic field. If the magnetic flux ¢

(in weber) linked with the coil varies with time 't' (in second) as per the equation

¢ =50t" +4. then the current induced in the coil at a time t =2 s is
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If the voltage and current in an ac circuit are respectively 50 sin (50t) V and

mA. then the power dissipated in the circuit is nearly

f
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The oscillating electric and magnetic field vectors of an electromagnetic wave
are along

DBy harod Sdoros® Eobo Tn DELS HOHAH wahImod §F HhEen

Options :



the same direction and in same phase.

L% 28 BES? sotar, B $4E° sotron.

the same direction but have a phase difference of 90°.
“ 28 BES sotar, 90° Ba5so EDA Soéron.

mutually perpendicular directions and are in same phase.

3 035@6 oaddadh S0eIe, 2.8 $585° Sotmon.

mutually perpendicular directions but have a phase difference of 90°.
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A laser produces a beam of light of frequency 5x10" Hz with an output power

of 33 mW. The average number of photons emitted by the laser per second is

(Planck's constant = 6.6 = 1073 J s)
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The ratio of energies of photons produced due to transition of an electron in
hydrogen atom from second energy level to first energy level and fifth energy
level to second energy level is
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The half life of a radioactive substance is 10 minutes. If n, and n, are the
number of atoms decayed in 20 and 30 minutes respectively, then n,:n, =
oy T
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If X. Y and Z are the sizes of the emitter. base and collector of a transistor
respectively, then
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The logic gate equivalent to the circuit given in the figure is
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If the ratio of the maximum and minimum amplitudes of an amplitude modulated
wave 1s 7 : 3. then the modulation index 1s
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Question Number : 121 Question Id : 64041115321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following represents the wavelength of spectral line of Balmer
series of He™ 1on?

(R = Rydberg constant. n > 2)

BoB 786 06 He' e0cieS6%0, arsnd Bd S50 By $501588 SO éﬁoﬁ@o&?

(R =8&=a§ yoroso, n > 2)

1.

Rin-2)n+2)

1

| o)

2
1

4R(n—-2)(n+2)

3. %

4R(n-2)(n+2)

“ n-

Question Number : 122 Question Id : 64041115322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

The work functions (in eV) of Mg. Cu. Ag. Na respectively are 3.7.4.8. 4.3, 2.3.
From how many metals. the electrons will be ejected if their surfaces are irradiated
with an electromagnetic radiation of wavelength 300 nm ?

(h=6.6x10""Js.1eV=1.6x10""7J)
Mg, Cu, Ag, Na & 39 [Hhdsren (eV o8b) $5sme 3.7, 4.8, 4.3, 2.3. o8
&88emeh 300 nm ééo@%{} e 2.8 &-dﬁjﬁiﬂcﬁﬁﬁﬁé@é DBBea0&® @ridiio BoBoDSHED,
& &ite Hod .:':@LSSEE_:: etpdsnderon ?
(h=6.6x10"%Js.1eV =1.6x10717 1)
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Question Number : 123 Question Id : 64041115323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The order of negative electron gain enthalpy of Li. Na. S. C/ 1s

Li, Na, 8. Cl & $edE QoS (e Jogrie (B

Options :

- Na>8>¢Cl>Li
C/l>S>Li>Na

2.¢

. % CI>Li>S>Na

Li>Na>8>(C]
4, %

Question Number : 124 Question Id : 64041115324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of molecules having lone pair of electrons on central atom in the
following is

& Bod s0E° ot HESrens) s euotad s 53@@35&:353 é@ﬁﬁdéﬁ e VOFY
Options :

1.WIS



Question Number : 125 Question Id : 64041115325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Observe the following substances.
Ethanol. acetic acid. ethylamine. trimethylamine. salicylic acid. ethanal.

In the above list. the number of substances with H-bonding 1s

Bob 55{3?0;&;@ 568003508,

23355, QDBE o, 356 Ja0ST, @g‘ﬂ@uﬂﬁbﬁ, FOHOE sino, afTd
E Eﬁﬁééﬁ H-a0t50 He éma;@ o
Options :

v 4



-2

Question Number : 126 Question Id : 64041115326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
ElelnlatioTat: Totnlelal

Statement-I  : If thermal energy is stronger than intermolecular forces, the
substance prefers to be in gaseous state.

argeg -1 . wodd emmpere 08 ENCE RN A @ond 680 aoso %E%eﬁﬁ
e0erRE Jnch Srhgot.

Statement-II : At constant temperature, the density of an ideal gas 1s
proportional to its pressure.

areeg -1 oS é@gﬁé &5, e9SBercin Frolgses o) SHaid enbresthmsaeton®
&0t008.

The correct answer 1s
DBoHE SHogERo

Options :

Statement-I is correct, but Statement-II is not correct
aTses-1 B0, o8 axgms-TT $8cHEe seeh.



Statement-I 1s not correct, but Statement-II is correct

argng-l HBE3RG s, seR) argg-Il HBGHRG.
2. %

Both Statement-I and Statement-IT are correct

argg-l &0Bosn argg-1I Botior KB,
3. ¢

Both Statement-I and Statement-II are not correct

argpg-l obakn  argps-Il Botlr NBEHHd erd).
4, %

Question Number : 127 Question Id : 64041115327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At 27°C. 1 L of H, with a pressure of 1 bar 1s mixed with 2 L of O, with a
pressure of 2 bar in a 10 L flask. What 1s the pressure exerted by gaseous mixture
in bar ? (Assume H, and O, as ideal gases)

27°C #‘3{‘5 S¥dsn 1barke 1L H,} O 5%s8n 2barXe 2 L e 0,8 S 2810L 3> le_qd‘“
EDartn. ardin Esodn DA 58550 bar o8t Qog ? (H, s06acm O, e

eatSrdinged @fE Hhin)



2. %

3. % ]
0.5

4.4

Question Number : 128 Question Id : 64041115328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two acids A and B are titrated separately. 25 mL of 0.5 M Na,COj; solution
requires 10 mL of A and 40 mL of B for complete neutralisation. The volume (in
L) of A and B required to produce 1 L of 1 N acid solution respectively are

A 598050 B @ Soth siireidh HEDEM wodiirddo abarth. 25 mL 0.5 M Na,CO,
[rsdese)) P8P $08805E08 10 mL A 5605 40 mL B efbsihmhs. 1L 1IN
@) [Erderd) BPoderdl @5ddsdy A HHbcn B & Hksksdrso (L od®) b

Options :

0.2 18
1. ¢

, % 08,02

0.3:0.7

3. %



0.7.03

4, %

Question Number : 129 Question Id : 64041115329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If A H © and A,S© are standard enthalpy change and standard entropy change
respectively for a reaction. the incorrect option 1s
&THE slalonyy &F.Se en HBdre S AnE) (Hdores "'-DC;F&")Q? S8y #nbatn (Deres
53@@'?5& Eﬁj‘fﬁim @ons, Hosed m&*éo
Options :

e : o .
AyH ™ =negative: A,S™ = positive: spontancous at all temperatures

2 .
AH = 53Wiﬁé§02 ﬂ.rSe = ﬁf}ﬁ:@ééo: LY ﬁa%i[ﬁét} éig E-&“ijécl.’%éﬁo

S . :
ﬂ"-rH =negaftive: ﬂr.‘_:i ot negatve: non-spountaneous at low temperatures

Y

(=) i
AH™ =Sedifo: ASC = Sergo! o) aslliidge 58 Eé@é&%@ﬁ
2. . | )



e s
,ﬁrH = positive; i"u SE] _pﬂiultl‘iﬁ non-spontaneous at low [emperatures

e
AH ™ = gaedgo; QP,SE' = frd¥o; v &8fliSe 58 "mﬁdﬁjé&%ém

3. %
e ; o
A rH =negative: ALS = ﬂegam €. spontaneous at low temperatures
e o
AH™ =seedgo: A,S° =erggo: ve) affiride 55 echdEgo
4 % 2 @ ¥ [~} o

Question Number : 130 Question Id : 64041115330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The C, of H,O(/) is 75.3 I mol™ K~!. What is the energy (in J) required to raise
180 g of liquid water from 10°C to 15°C ? (H,O =18 u)
H,O(/) &g C,75.3 Tmolt K-1. 180 g5 O 10°C 08 15°C % 2oderd8
=Hebd €8 (Jos) 208 ? (H,0=18u)

Options :



Question Number : 131 Question Id : 64041115331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K). consider the following gaseous reaction. which is in equilibrium.
T(K) & Bed8° 65 (Bod ardin SB5S HBKBoDIm.

What 1s the fraction of N,O5 decomposed at constant volume and temperature,

if the initial pressure 1s 300 mm Hg and pressure at equilibrium 1s 480 mm Hg?
(Assume all gases as ideal)

Ergog HEdo 300 mm Hg %80k $Hardd 58 HsSo 480 mm Hg eond 18
HE5BETE0 HHBom L8 SEENSe 58 dd@rNo 308 N,Os grifo dos ?

@ - & 255
(o)) seaSna)en tidiEHHd grdohzn)

Options :
1. % 0.2

0.6

2. %

0.4
3.¢



0.8

Question Number : 132 Question Id : 64041115332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Observe the following molecules/ions.

1B0B emden [ @orSed H$680o0Hdw.

NH, . NH3. BE;. og~. CH3 . g*. CO. C;Hy.
The number of Lewis bases in the above list 1s
2 erdeard® erone 5o K08

Options :

n

Question Number : 133 Question Id : 64041115333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Observe the following reactions
Eoby S $B8DoSod. (g = am)

L N,(g)+3H,(g)———2NH,(g)

200 atm

Y
073 K

II. CO(g)+H,0(g) —C0O,(g)+H,(g)

1. CHy(g)+HyO(g) ﬁ} CO(g)+ 3H, (2)

Catalysts X, Y, Z respectively are
ﬁtéu]ﬂﬁsﬂm XY, 2 atnm
Options :

Iron, sodium arsenite, cobalt
28R, JPEcho w3, gsazroeg

Iron, zinc, cobalt

D88, RoE, St
2. % =



Cobalt, zinc, nickel

&hames, 308, iSes

3, %
Iron, iron chromate, nickel
28S, 085 (85heS, DT

4, &

Question Number : 134 Question Id : 64041115334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
Boby o) 3BMHod0d

Statement-I : Both BeSO, and MgSO, are readily soluble in water.

argeg -1 : BeSO, &bcsn MgSO, e doir §Pe5Y e rhearon.

Statement-I1 : Among the nitrates of alkaline earth metals, only Be(NO,),
on strong heating gives its oxide, NO, and O,

areag -1 = lef é@@;éeﬁﬁeﬁ% J&Sees® Be (NO,), rigdah ave JAI280pH

of) S, NO, &boko O, Job.

The correct answer 18
Nlalen s IR ninle)

Options :



Both Statement-I and statement-IT are correct
argpps- @obotn argg-I1 Do HBghd.

1. ®
Statement-I 1s correct, but statement-II 1s not correct
argps-1 SBEhRE, eof) amgpg-11 SBHRE erdth.

2.9
Statement-I is not correct, but statement-II is correct
argpng-] DOEHE smidh, =) argg-IT NBEhak.

3. %
Both statement-I and statement-II are not correct
argg-l &b asn arge-1I oo HBEHHD swad.

4. %

Question Number : 135 Question Id : 64041115335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not associated with water molecules ?
Bod 8P 08 8 wrnHes® $irsbEo BokBh ?
Options :
cryolite

Y e Wi N 1 =3
L\::C'_‘-_J_:E'&ﬁ
e a

1.



bauxite

28 e5
2. % =
kernite
05
r_l‘}'
3. %
borax
é“:t:mgr;-
4, %

Question Number : 136 Question Id : 64041115336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement about silica.

wDsed) Domobod JHbseR argagio Hdohan.
Options :
It 1s acidic in nature
% 26 o) SErHod 89 sotnod.

It has no reaction with most of acids except HF

, x HE & arer eiipeos” OR8 S; Bed.



With NaOH it forms sodium silicate
NaOH &° 18 #&cho 2085 ahob.

Like graphite, 1t has two dimensional structure

4w FRE 58 &8 BITLBDH Dooso S0EN0A.

Question Number : 137 Question Id : 64041115337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following statements related to photochemical smog 1s not
correct?
5208 Sardhid ﬁvéﬁéj 20206095 (Bob ﬁé&]ﬁ@ﬁs 2 HBAHE soth ?

Options :
It 1s controlled by the use of catalytic converters in automobiles
@655?‘_'0@5&:-65 t%l%éé 50818 aholEreid éHairfodto oo B DcHoBoSH,

e

1. ®

It causes corrosion of metals

5 % 236 &% éﬁé‘ 5DA00.



It 1s a mixture of SO,. smoke and fog

58 SO, e 0Bain Hohe ¥z
3. ¢ ’

It causes extensive damage to plant life

26 B8 5708 DFxorr S3jo BenkEod
4. % ' %

Question Number : 138 Question Id : 64041115338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In compound (X). hyperconjugation is present and in (Y). resonance effect 1s
present. What are X and Y. respectively ?

c\ﬁa o (X) & ©8[00wHo Boenod BN (Y) &° 0'55:"* |Berdio soénoh. X
0Bain Y en S0dmre 28 ?
Options :
Toluene. prop-2-en-1-ol
| % S5PDS, Er5-2-%55-1-48
Aniline. 2-propenal
5 % DT, 2-88haed



Toluene. nitrobenzene
P08, ISt BoLS

3.9

1-Bromopropane. phenol

1 287 E:D'- £ =5 o e
J._,'E::' c:L:t'L ® adod, oded0Ed

Question Number : 139 Question Id : 64041115339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An alcohol X(C4H;50) on dehydration gave alkene (C4Hg) as major product,

which on bromination followed by treatment with Y gave alkyne C,H,. Alkyne
C,H, does not react with sodium metal. What are X and Y ?

w8 wopid X(C4H; 0) & ?\]gﬁjééeao Jabre @@&5 (C4Hg) & 1355m8 aefydomm
aiyob. aid) 1550 T1S T2 £Haef Y &8 SEgPobodre s C,H, 5 adph. vehs
C,H, &¥cho eShros® SEPocein. X @bakn Y oo & 7 (alc. = ey, aq. = ax)

Options :

- L~

- H"\[f .
oH * 24 KOH



4.

Question Number : 140 Question Id : 64041115340 Question Type : MCQ Option Shuffling : Yes Display Question Number :

A(' (1) alc. KOH (11) NaNH,

OH’
-.;.f”
<N op ; ale. KOH
b4
<N om ; () ale. KOH (ii) NaNH,
®

Correct Marks : 1 Wrong Marks : 0

An element occurs in the body centred cubic structure with edge length of

288 pm. The density of the element is 7.2 g cm™>. The number of atoms present
in 208 g of the element is nearly

@0 25D 288 pm &° 2.8 Hredo @odEolHE i Jommod® efodod. Hureto

s

=

Sroltss 7.2 g cmr3. 208 g o Sirefod’ &8 DBXPEanY DOJY TPTEHT

— L=

Options :

1.

23
24.2x10
‘-?.-'/"2

Yes



L« 12.1x10%

24.2%x10%4
3. %

, % 36.3x10%

Question Number : 141 Question Id : 64041115341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An aqueous solution containing 0.2 g of a non volatile solute 'A' in 21.5 g of
water freezes at 272.814 K. If the freezing point of water 1s 273.16 K, the molar
mass (in g mol™!) of solute A is [K(H,0) = 1.86 K kg mol~!]

02ge &ﬁe:-c@%ﬂ Q&0 'A'21.5 g & HASP SRPEIPES © eoprdeso 272.814 K 058
Dbt 3obod. HB Go¥) POOA AT fgeﬁo 273.16 K eond, [peddo A Gng) drerb
(B50°8 (g mol-! &&°) [K(H,0) = 1.86 K kg mol~']

Options :



Question Number : 142 Question Id : 64041115342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K). the vapour pressure of x molal aqueous solution containing a
non-volatile solute 1s 12.078 kPa. The vapour pressure of pure water at T(K) 1s
12.3 kPa. What 1s the value of x ?
T(K) 58, a8 &v&wa’“&‘{%@ (=80 &) X drerd se [THnd m"{aﬁ;{shm 12.078 kPa.
T(K) aln %JL?CZ; ks &ﬁ%ﬁ;ﬁ:ﬁéﬁ} 12.3 kPa. x endd oo ?
Options :

10

1. ®

1.018
2. ¥

0.1018

% 0018

Question Number : 143 Question Id : 64041115343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following cell reaction

(Bob né B8 HBHHBoDHD

2Fe> (aq) + 21" (ag)——2Fe> " (aq) + I, (5).

At 298 K. the cell emf1s 0.237 V. The equilibrium constant for the reaction is

10X The value of x is
(F =96500 C moll; R =8.3 T K- mol).

298 K ;6%3, s0éo ) emf 0.237 V. 585 Sahernd Qoroto 10" ©ond x Dend

(F =96500 C moll; R =8.3 T K- mol?). (aq = &e, s = 508)
Options :

8
1. ¥

Question Number : 144 Question Id : 64041115344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



-

; { : 2
For a first order reaction. the ratio between the time taken to complete i th of the

reaction and time taken to complete half of the reaction is

3
2.8 (D50 Baros S8 1 8 N0k roseRdnels

Es
el
q

erm8 0bcin DHo 38 sREelE

38 el gy o XS
Options :

2

1. ¥

Question Number : 145 Question Id : 64041115345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the indicator used in Argentometric titrations ?
2306 DIBE wossrdored® sd@rhom $r08 (indicator) o ?

Options :



Starch solution

o6y |oedieesin
1% ERE

Eosin dye

2@raS Soz2kan
2.

KMnO, solution

KMnO, (orsessn
3. %

Phenolphthalein

Question Number : 146 Question Id : 64041115346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a Freundlich adsorption isotherm. if the slope is unity and k 1s 0.1. the extent
of adsorption at 2 atm 1s (log 2 =0.30)

GronoEds «b8%es éiﬁ-%éajﬁﬁ seen wseo¥o 0605w k = 0.1 @onds® 2 atm 5¢
©68%3 @56 (log 2 = 0.30)

Options :

0.6

1. ®



Question Number : 147 Question Id : 64041115347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
Bob se@ 2388238550

List-I (Process)
=izl (a‘iaﬁ@&}

A) Hall-Heroult process
a’ﬁa’?-‘z'snﬁﬁ%f Slat

B) Mond process
S0l HES

C) van-Arkel process
TR-60)0 DG5S

D) Zone refining process
fooe &858 St

The correct answer 1s
STsVRSEEnTe

Options :
A-IV. B-III. C-I. D-II

1. ®

. A-II. B-III, C-IV. D-I

List-IT (Metal)
whz-1II (S550)

I) Ti
II) In
III) A/

V) Ni



A-III. B-1. C-IV. D-II

A-III, B-1IV. C-1. D-II
4. ¢

Question Number : 148 Question Id : 64041115348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of P= 0O, P— P bonds present in oxoacid of phosphorus. prepared by
treating red P, with alkali are respectively
AS P, & 5808 SGy Fobod Scirdhnchnés Fr)Be Gng) o8 sfpos® &)
P =0, P—P aogre Sogyg S55m

Options :

]
Le %1

—
P
]

-2
-2

Question Number : 149 Question Id : 64041115349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which one of the following statements is not correct ?
(Bodl malda ;:ng%ﬁ:#iﬁ $H65°06 b ?
Options :
CrO is basic but Cr,0, is amphoteric

Cr0 gr8 Sggrsdo Bod 507 Cr,0, 8ydggrsio Bob.

Nitrite is oxidised to nitrate in acidic medium by KMnO,
ey o808’ KMnO, 3 38, 3BS™ ©8)88mo Sobatodhod.

PdC/, is the catalyst in Wacker process
788 H588° PACT, ﬁ@jﬁéo

The reactivity of the earlier members of lanthanide series is similar to that of
aluminium

eroR6 (BB Hnoth Hiresee & SSog cBeres ©e55Iho0 N tﬁDw'%u@Eé o)

4 ¢ ©0t0oh.

Question Number : 150 Question Id : 64041115350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The co-ordination number of chromium in K[C1(H,0),(C,0,),] 1s
K[C1(H,0),(C,0,),] & Encho D5l Doy

Options :

Question Number : 151 Question Id : 64041115351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
Bobs o) SBrdodod

Statement-I : Nylon 6 1s a condensation copolymaer.

aregag -1 . 38 6 oI ¥ Hoxhsd S8R0,

Statement-II  : Nylon 6, 6 is a condensation polymer of adipic acid and tetra
methylene diamine.

aveps -1 . 38 6, 6 030 OARE wio dhctn A edS 2 odle

S0508% areEb.

The correct answer is
ABohE SEoaeRo
Options :
Both statement-I and statement-II are correct
a1 doBokn argg-II Boihr XBghia.

1. =

Statement-I i1s correct, but statement-II is not correct

g1 HBEHREG, evR) amgpg-11 HOGHRE seth.
2. %



Statement-I 1s not correct, but statement-II is correct

argpg-l BGhEE emdth, =rd args-11 HBEHH6.

3. %

Both statement-I and statement-II are not correct

argppg-l soboin aregps-II Do SBEHNE seey.
4.

Question Number : 152 Question Id : 64041115352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

Boh &Y adihan

List-I ( e=8ze-1) List-II (e=8e=-11 )
(Glycosidic linkage) (Polysaccharide)
@'??_J%E 205H0) (crO=rERE)
Aa = 4 1) Amylose (03 &™)
B)p-14 IT) Amylopectin (2Z& 2E3)
C)oa-1.4,0-1.6 III) Cellulose (_536_1}5&’““}555}

Options :
A-II. B-1. C-III

1. %



A-IIL B-I. C-II
2. %

A-IL B-II. C-III

3. %

A-I B-III. C-II
4. ¢

Question Number : 153 Question Id : 64041115353 Question Type : MCQ Option Shuffling : Yes Display Question Number
Correct Marks : 1 Wrong Marks : 0

The list given below contains essential amino acids that are basic (X) and also
non essential amino acids that are neutral (Y). X and Y. respectively are

a) Lysine b) Alanine ¢) Serine d) Argimnine ) Tyrosine
(Bots asigeéhild AR e EE, g8 AP sren (X) 5HBasn e, B DS

o
[
edizen (Y) o somom. X h8cin Y en SHidme

Cr
a) BHS b) Q038 C) B8R d) =835 e) B6°2S

Options :
X=b.c,e: Y=a.d

1. ®

X=ad: Y=Db.c.e
2.9

: Yes



X=a.c Y=b.d e
3. %

X=a.b.c: Y=d.e

Question Number : 154 Question Id : 64041115354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The artificial sweetener X contains glycosidic linkage and Y contains amide.
ester linkages. X and Y respecth'el}' are
B\ 8% se8%o XHE{ENE‘E 2oged)) ¥OA Gotnod Hbcin Y OdE, 00 aogreai

£0A Ssotnob. XEﬁ;B 0 Y en Hnne
Options :

Sucralose. Alitame

HES%E, 0bdH
1. %

Sucralose. Aspartame

miééﬁa'af ‘E'n]cu é
2.

Saccharin. Alitame
FEBS, w085



Saccharin. Aspartame

3485, 58S
4, % -

Question Number : 155 Question Id : 64041115355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following halogen compounds is least reactive towards
hydrolysis by Sy;1 mechanism ?

Bob HESS 4 MJ.J Fodd H6 Sy1 oy Deedod® %E’l €y ecen hcw‘%e_é_ﬂ&

58 &otnod ?
Options :
Tertiary butylchloride
B80H0 arBS §B6
[1'%) [

1. %
Isopropyl chloride
2 l'_'A.p’."'J |§j‘ﬂ gj@a
Allyl chloride

o8 88
3.% 7



Ethyl chloride

=3¢ E8E

Question Number : 156 Question Id : 64041115356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

p-Chlorotoluene is the major product in which of the following reactions ?
Bof o 1565@53 p-E°6°PDS (s &S0 ?

(only = &r$sh) (light = s,0&; dark = H58)

CH
= 3 Cl,
I) 5. | UV light
CH;
&l
II) Fe.dark
M2 (1) NaNO, +HCI
TTIT T
11 _2I5 TS
H;C (1) Cu/HCI
Options :

I. IIT only

5 % I. II only



I1. ITI only
3. ¢

, x LILII

Question Number : 157 Question Id : 64041115357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arrange the following in decreasing order of electrophilicity of carbonyl carbon.

BoB 7B BHIS =S ij;|§£§g@iﬂ- j?;'j [Bhos® edudiod.

P CHO COOH
Dl | II)
T
COCH;
I11) O/ IV) CH;CH,CHO

Options :

IV>I>IM>11
1. ¢

IV>I>11>110
2. %



I>IV>II>11

[>TI>IV>11

4, %

Question Number : 158 Question Id : 64041115358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the ratio of sp® carbons to sp? carbons in the product "P' of the given
sequence of reactions ?

BS [EErHS5es® ddiho P 808D sp? S, sp? sfSe Ko A58 96 ?
(anhy = (5, major = (33grs, Conc. = reef)
Lk
= {:H3COCf Q /n—Hg L
« ) Anhy A¢C¢y (major) concHC/

Options :
31
1. #
L |
2. %

3. %



Question Number : 159 Question Id : 64041115359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The final product {C) in the given reaction sequence is
Bk zﬁcﬂ‘guééaoeﬁﬁ &ty adfydho (C) (anhy = @anlg)

$0CI, CeHg (O NHF-NH;
CeHsCOOH————(A) anhy. AICL, >(B) (i) KOH/(CH, OH), &
A
Options :
Benzophenone
ot 385

Diphenyl methane
B335 Bi5

Diphenylmethanol
ER3S DS

3. %



Benzoic acid
BoLonE w0

Question Number : 160 Question Id : 64041115360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Y in the following reaction sequence ?
(Bots mde@bis SoxEsoos® X 0cn Y en 08 ?

(1) CH;MgBr .Y

C NI — 2 SCHCN

(i) H,0
Options :
_ KCN: C6HsCOCH;
1.
KCN: C¢HsC(OH)(CHj3),
2. %
CuCN |KCN: C¢Hs CH(OH)CH;
3. %

CuCN | KCN: CcHsCOCH;
4.9 - :



